4.4.4%

c) f(z) = (2> —4dx +4)e® = ()(— 2)2 Q)(
@ Ed() =R
@ (Pan‘l:e‘ . ﬁ(— X) '=<("-)(')Q" b(—x) + ‘[) 2 ‘
= (x* + ex4u) ¢ X
-~ (xt2) e
Vi paie, w twpaive
@ gta\\ﬂ dx g(.)f\:
X 2
k- + ¢ -+
eX + +
éu) + 0 1
@ AV uame
=~y >
AD: L -0) e = 40t =
— X340
wone AN 3\\ droflf
IND
ARG Do (.X'—Z)Z et =
- X'ﬁ-bQ . +b0 D"
(x-2)% B 2 (~2) Bt 9
= L-w o = ﬂm 2;3 = -0):\M =D

—X - -
XH-R € tRyp Y d3-RA -2 V-t xdA-N e ) 2
4P -N 4R



\231m AfNG ‘f‘-—‘-b.

®) Croigana .
2 X
by = -2) e’
w v
W= \X~2)Q i [L(= 2 (x—2)
v=e® v =ef

)

%'Lx\ —ol-pe )t e = (x-2) e ( 2+ x-—a)
= x(x-2)e*

205 da PV: Dot ¢

Qrg)m dy. gt(.)(\:
X o 2
X - 0 + + | omax oy 4 )
-2 | — - ¢ *t
mn (25 0 )
ex | T -+
fw| + 3 - 0 = dy=4.e’= x4
M3X
ﬂm o / {y = o
miv
Courb
@ " x-2)e , x=2



W= xl—lx ; u‘ = 2xX-2
V!

v= eX = ot

\

gnm = (@x-~ Z)QX r - 2 ) X

= ([ 2x-2 £ —x ) e* =(0C-2) ¥
Bt de L' =2 = x =102

X —J2 N2

(x2-2) + ® — ¢ 4+ | P (~\Yz,' ?:3)
e X -+ —+ -+ P (J2 ; 44)
') T0O — 0 +

é 2) ¥ 239

(_u) \//\ Ui}—\/ {[Jz) =44

L

'






